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5.639684199

323.1301024

­36.8698976
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5.639684199

5.639684199

5.639684199 ­0.9486832980

0.3162277660

0.3160779642

­ 0.9487332188
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370
a = 10

A B

C

b

c

13.2704482162

16.6164014112

0.858407346
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1.981674371 + 5.663299981i

2.506845720 1.647945550
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370A B

C

a = 10b = 12

c

0.7221780281

46.234596460

133.7654035o

7.233773400
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0.74460448053 42.6626941409

­ 0.4135135135 2.618918919
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Instructions don't say.  Teacher always does one period...

5 pts bonus if they graph two periods, perfectly.
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500 lb

433.0127020
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17.84995826 17.850

Let x = the speed of the bicycle, in miles per hour.
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